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There are four problems in this test. g =9.8 m/sec’

(I)Angldbodyls chtlnbirie(d from a rod L and a sphere $. It is attached to

“the fixed pomt at'O by a smooth pin. Please find out the force exerted
by the pin, if the éystem isreleased fromrest. - - (25%)
Where l'=,2vmv, R= 0.5 m, mass of L is 3 Kg, mass of $'is 2 Kg,

Inertia of sphere (center) is 2/5*m*r’ _
Inertia of slender bar (end point) is 1/3*m*d’
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(2) A ball of mass m is made to move in a horizontal circle at a constant

BRE ’”J:ang'ulér VEIGCity' . If the tension in the cord is T, please find the
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(3) A block #n is constrained to move on a straight bar AB. A mass M is
-suspended from mass # and is free to move about the pivot O. What

is the acceleration of mass M, (25%)
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(4)Please try vou best to find the steady-state displacement x(t) from the
twgvsp amper-mass system. Where . y(t) = 0.1sin (120t),
| © m=0.01Kg, k=100 nt/m, c=2 nt-m/sec. T (25%)
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